Study Guide
Population Ecology
Lecture learning goals

· How does the environment influence population size?

· Compare and contrast the exponential model of growth with the logistic model.

· Use the concept of ecological footprint to discuss whether the US is living at, above, or below the means of our country to support us.

Guiding questions
1.  Describe the terms individual, population, community, and ecosystem as they are related to one another.
2.  What does the term carrying capacity mean?

3.  Distinguish exponential population growth from logistic population growth by drawing a graph.  Which type of growth do most populations follow?

4.  Population "A" is subject to heavy density-dependent factors, such as reduced food supplies, but not a lot of density-independent factors, such as earthquakes, while population "B" is repeatedly affected by density-independent factors but not many density-dependent factors. 

a.  Distinguish density-independent from density-dependent factors.

b. Which of these two populations is more likely to be experiencing exponential growth? Why?
5.  Have humans shown logistic or exponential growth for the majority of our history?

6.  Have humans exceeded the carrying capacity of the planet?  How does human activity keep changing their carrying capacity?
7.  How does the ecological footprint for the US compare to the rest of the world?

8.  What can age structure pyramids tell us about the expected future growth of a population?

Blasts from the past (i.e. old test questions)

When more than two members of the same species live in the same place at the same time, they constitute:

A.  a population

B.  an ecosystem

C.  a community

D.  a niche
Disease is spread more quickly between individuals who live in close proximity (i.e. close together), such as in a nesting colony of penguins.  Disease can be considered:

A.  competitive exclusion.

B.  a density-independent factor.

C.  parasitism.

D.  a density-dependent factor.

E.  carrying capacity.

It is difficult to determine the carrying capacity for humans because we are not affected by density-independent factors.

A.  True



B.  False
